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Read the Following Instructions Carefully (-la-l ya-usd wuyds qix)

(3)

(4)

(3)

(6}

(1) Please writc Seat No., Question Booklet Number, Question Paper Series

Number, Category and PH (Ves/No) on answer sheet {OMR. Sheet) without fail.
(il olz «imz, wmust 2 Mz, w A iz, 23afl wad
wamadl un A8 yui wadll sa 993 wam gl )

Each guestion carries 2 marks. Wrong answer or more than one answer in one
question will carry 33% (1/3 Marks) negative marking,

(28 uatrtl 2 3@ 8. wilat wauot viual s swdi 2y wus 4 33% Aot (1/3 @) Asianens
Al yud 8 )

You have to mark (e ) the right alternative (A or B or C or D) for each question
in the answer sheet with Blue/Black ballpoint pen only.

(i wausadui sis ua wiEl Doy fsey (A »imal B sual C siman D) wis 54
siflfaieedl sladl-2 A4 4 Palad (o) $34.)

Rough work. if anv: be done on the last blank page of Question Paper

(816 ot e 28 s wanwetn il A Yo w2 o a1 2

In case of confusion in Gujarati Question, rely on English Question. English
text will be final.

(% ogaricll walni B dla ol idw wat v3-A) dieol @ A+ w2 Uz UMl side o
sfye W2 sl aeud )

Marks scored by candidate in Paper-11 will be counted for the merit list.
(-2l Glead Aade @ dle diseni amaimi wadl)
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In a row of thirty-five children, M is fifteenth from the right end and there
are 10 children between M and R. What is R’s position from the left end of
the row ?

(A) 15® (B) 5%

(C) 30t (D) Data inadequate

Uil ostosldl daidui el suapll M oAl #4is 1540w M w4 R 9%l 10
sunsl 9. o sl R A 2 dean| @ 7

(A) 154 B) 534
(C) 304 (D) vl wladl &,

Three of the following four are alike in a certain way and so form a group.
Which is the one that does not belong to that group ?

(A) Gold (B) Nickel

(C) Platinum (D) Diamond

Al wesidl e wls wen & 3 % 9 orud 8. w Ml %l Wwuda
U us d safal,

(A) yadl (B) +lsa
(C) @dnn (D) 4l

Among P, Q, T, A and B. Each having a different height T is taller than P
and B but shorter than A and Q. P is not the shortest Who among them is
the tallest 7

(A) A By Q

(C) P (D) Data inadequate

PQ, T AvdBeisdl %fl %8 Gud &. P =4 B 53l T G &, uat T2l
A i Q seell (Il 8. P el odlall el 2ute U4 Al Gl fa B 7
(A) A (B) Q

(C) p (D) st wlfadl &,

In a test, a candidate secured 336 marks out of maximum marks “X°. If the
maximum marks ‘X' had been converted into 400 marks, he would have
secured 192 marks. What was the maximum marks of the test 7

(A) 700 (B)y 750

(C) 500 (D) 650

w5 udaini vls Gleair wany X0 wusl widl 336 wwl A0d B, W X e
wiml 400 aellal dl i Gl 192 sl i . w0 udlae qeay s
EECTIN I

(A) 700 (B) 750

(C) 500 (D) 650
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Direction : Read the following paragraph and answer the question No. 5 to 7
JAU ¢ AL seeis aidld ua suis Sl 7 s dl,

Ever region has its own set of constraints and problems. In Asia and the
Pacific, increased scarcity of land, water and labor are serious issues, in addition
to climate change. Of course meeting the challenge is particularly important in
Asia because more than 60 percent of the world's malnourished people live here.
However if there'is a political will, and with suitable policies and targeted
programmes, it is a goal that can be achieved in our lifetime.

It is certainly difficult to make a good living in agriculture if you only have
a small plot of land and if you are growing only basic cereals crops such as rice,
maize or wheat. But there are ways to attract youth to agriculture First with
emerging labor shortage, rural areas need entrepreneurs to help start up machinery
service providers that can for example, prepare the land or harvest the crop.
Second, scientific research can help engineer better crops that are more nutritious
and withstand climate change. So when we talk attracting vouth to agriculture, we
do not want them to work simply as laborers.

Please carefully examine the questions and statements given below and
choose the right answer,

g [aiadl sl w4 wulusl [Ma e du o0 s s s
[Arcizl 1o 2uedl odl well, w0l oid afisi-Al dall =1 qemadl qadl o, @1 Guid
SaMIAAL st yEl ust B, 2B w2 5 sl Eadl pdlfid aadil 60 250 aadl
W8 Al 2 ussdd [N Mer B, vuM odl, W uwdly seealE Gy, wdsm
Al ddx w4 asisl 0B seisdl da dl g5 Wi siusl 2a-saul % uy
ERC I :

oAl i WA ol Al 254l Gl B dd dAMl S A6, Alv & wawd ¥
Gewet 53 dl sPudoiedl M spandlae w2 suas qaadl yaba 6 uid qaidi
wa ol aelle Bl o dd alisi-Al doll adly 240 6 ool ol as sl
59 25 dan il A um widr Aa 2oaafs wedldl suassa 8. o,
Quuls dollud g Qi A wsl & ool dael amd gy wA ¥ earudl 38E
wifl ad dd Fofe sd a6, s, w0k 204l gauda 5f dzs susiasdl ad
sdol ol iz au s wlisl ads sl A Al sedl

o lldeu Rl Gudlst Ynaws weelul sinayds aidl wd A, B, C, D widl
Yoy [Asadl waiesll s3l.

5  Which of the following statements is true 7
(A) There is no climate change in Asia and Pacific regions.

(B) 60% of the malnourished people of the world live in the regions of
Asia and Pacific.

(C) There is abundance of water and land in Asia and Pacific areas.
(D) There is no solution to the agricultural problems in Asia.

Aladidl 54 R W & d zaldl,

(A) >0 =4 dBsls @il wiasl sis sesua =l

(B) [Aa-ll guilic azdldl 60 25 4l il =i UBids Erudsl 22 &.
(C) wiE-dRss RaEinl ool w4 welldl Gualh [aya wuewi o,
(D) =il ezl vdlee usledl sig Gea -l
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6  Which of the following statements is not true ?

(A) There is an increasing need for machinery in Agricultural sector.

(B) Given the right policies and programmes Agriculture in Asia-Pacific
region can be improved substantially.

(C) Scientific research can help in Agricultural development

(D) There is no scope for new entrepreneurs in rural areas of Asia and
Pacific regions

el 2 [ s el 4 ealdl.,
(A) 5[ Azl Atz sl #3dad 9.

(B) nulou Afel »i sdadl g wEu-iRAs Rl vidid s
AU S 6.

(C) Asuls dallwedl sMdsl Asaui Gualdll ug us.

(D) wiEw-fEds Rl da wes e aelle RaEal sty ds -l

7  Which of the following statements is true ?

(A) Tt is easy to make good living out of production of wheat or rice on
a small plot of land

(B) There are no problems or limitations in Agricultural sector anywhere.

(C) We need to attract youth in the agricultural sector not as labourers but
as entrepreneurs.

(D)  There is no malnutrition in Asia or Pacific region.
Al 2] Bt 0z 8 A safal.

(A) ol s el gsdl wz 46 & Al vdl s waqwize Wy wdl
asds] A .

(B) sMdist w2 siwue [l sty wieusl & walasl -l

(C)  sFAl wuust 2 gl woEl dds dl wa welisl 435 susdadl
CRIESI T

(D) @i ¥ UEAs (e sid gdvaell e vl
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Direction : Read the following paragraph and answer the question No 8 to 10.
s Al s aill- us suis 84l 10+ e Bl

Inspite of the significance of Upanishad, boasting about our being heirs of
Great Rishis, | would say that in companson to many other people. we are weak,
in fact very weak. The first thing is our weak bodies. At least one third of our ills
are rooted in our physical weakness. We are idle, we are not able to work, we are
not able to remain umted, we do not love each other. We are quite selfish; Mot
even three of us get together without mutual envy and hatred for each other Such
is our condition. We are like an unorganised mob, highly selfish, we have been
fighting for centuries on issues like how to draw lines (Tilak) on our forehead. We
have written big books important issue as to how our food get contaminated by
mere sight of another human being ! We have been doing this for quite a few
centuries. What could we expect from the people who have been preoccupied with
wonderful & beautiful issues (!) ? Can we expect any positive result ? Are’'nt we
ashamed of this ? Yes, sometimes we feel it that way, even when we consider them
as trival matters, we are unable to give them up. Though we chant so many things
like a parrot but we do nothing. It has become a part of our nature to talk, but not
work, What is the reason, our physical weakness. In such a body. a weak brain is
also not able to do anything worthwhile. First our youth has to be strong. Religion
will follow automatically My young friends, “Be well-built” it is my advice that
by plaving football, vou will be nearer heaven than by reading ‘Gita’ These are
strong words, but 1 must say it because 1 love you.

I know where the shoe pinches
I have gained a bit of experience.

If your muscles & bicepts are stronger you would understand “Gita" better
Please examine the following statements in light of the above paragraph and select
the right answer from A, B, C, D.

Gulueledl sl i, syl wMsia dae adsdl owd wadl slal wdi, ol
qell wnwlAl arvunslla, WL du sed ddul & suuEl g dlal, wla geln e,
el uddl »ud wuusll wdRs eolndl, slom o 2uuen 21s gdlais gl g
wipusll aARs Astud &, wudd sumy dlel, 28 s 53 asdl 4l wudel dasn
Al sl A, sue sisellon uel Uy -l siuel sAae el ot suusnsl
A9l wd wissllondl am osul A1 & wisellad Fissul Beu slon a8 asal «dl,
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wudl viuell eul . 21 sioualBia dni %al, seid @], sun w2 2005 [as sudl
dd zg 5 ddl qd cmd 21 w2 w3l sisellon-d el sasu » el
202 wsaell sz g wi b Adl B Hal vl qerasl wel uR sddiAl dul dv
wuel el | seen seals Asvldl suudl M % s s dlul % ueadl awn
sfgals s wiEmn, der el e sl Asd 2 da @A wddl A8
Herdll daddl ol da vuust wan well aflal ? g suded el az Al 2uadl?
1, #135 20d B vl udd ed auuEl B0 susdiA Heds e ddBl, dl sl el
dud oldl aser el divedl 92 wuud sl susidl @ad Al sildl %551 sl uat
53l 59 Al slasile 53 uel s 4 5d, wowd kvl seug sl sl B,
A sizel 4 7 wdlllEs S, s and e s s ual sl wlEeuq ddg
Aol 28l A qyed siidd WS, dl udal slueL 4445 distdan sial RSB
W wieonel] siasl. win yas Gisl | yza ol Wil aud sl dene s, dlldiqi e
sl gaolla Wl 2l 4y -gs oall, w1 usel 25U B U WE dad d Aceaa
Wl sizel b g and A o, v sl 8 sl v ez . el Als wideia
el B, A sl i sl w9y wwEed wsl dl dd el ay wd 44w
usl.

AL Wil sizpyds wown 54 Guds aavisu dzeluidl wwl Gz (A, B, C, D)
wde 53,
8  Which of the following statement is not true ?
(A) We waste our time discussing irrelevant and insignificant issues.
(B) We are very weak as compared to other people.
(C) We talk but not work.
(D) We have been united and work as a team.
Al Al dwal st duill s R W 4ol 4 oeaddl.
(A) wuust Biabuioll »i geds el uz yal 53 wuusl wxy seuds
eflost .
B) el woa-ll weumelal wuud vl oo i,

(C) »uusl audl 53wl flsl us s sl -l

(D) »uuel AABa ol =4 wls dn dds s sfal .
CSSC-GS-11-PKL-2016_C] 6 [ Contd...



9  Which of the following statement is true ?
(A) Tt is more beneficial for youth to play football than to read ‘Gita’.
(B) We are very committed and hardworking people.
(C) We are superior to other people.
(D) If we are religious, we will become stronger.
Al Rl dwal vl duidl s Rud wd 8 A enfal.
(A) »uvsn yau-l w2 oflal aindl sl geslla wig 4 aud dweedl @,
-(B} Mgl we WU e g dlsl el
(C) wuusl ofles wm 53l daud edlsl.

(D) 2uudt ubls ady dl almaudll ady.

10 Which of the following statements is not true ?
{A) The auther knows what is the root cause of our weakness.
(B) We are great because we are heirs to Rishis and we study ‘Upanishad’.

(C) We consider a mark (Tilak) on our forehead as an important issue in
life.

(D) We are selfish, we are jealous of each other and are disorganized
people.

Al Bl dwsl s duidl 2 Rust wy el 4 eaddl.

(A) dvis v & & suusll eoud 3o sim 8 8,

(B) sl wEuAL U 2 GuRNEHAL oy deell qa sl
(C) 2udel sun wtl [as wal als Hacadl Y5l wellsl ol

(D) v waell dlsl, siselloadl Sul 821 fl2l 2 208l walza dlsl
el
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Direction : Q. 11 to Q. 14

Read the words given below in capital letter & select the synonymous from (A),
(B), (C), (D) given under the word in capital letter.

YA oz w4 A, 114l 14

Al Wiz wal avlal asell 08 sulda Rseynisl] asedl wid] -ews-u wufy
wseMidll (A), (B), (C), (D) ude 5.

11 APPREHENSION
(A) Alertness (B) Anticipation
(C) Anxiety (D) Doubt

12 ALLEVIATE

(A) Aggravate (B) Amend

(C) Maintain (D) Mitigate
13 DEFT

(A) Dangerous & Swift (B) Defiant

(C) Skillful & Quick (D) Slow & Steady
14 RESCIND

(A) Reunite {(B) Reverse

(C) Reserve (D) Reproach

Direction : Q-15 to Q-17

From the following words written in capital letters, select the antonyms of the
word in capital letter,

15 VOLITION

(A) Pretex (B) Unwilingless
(C) Compliance (D) Interlude
16 LOFTY
(A) Mean (B) Glorious
(C) Envious (D) Modest

17  PAUCITY
(A) Plenty (B) Pressure
(C) Pause (D) Retention

C55C-GS-11-PKL-2016_C] 8 [ Contd...



19

20

21

How many meaningful four-letter English words can be formed with the
letters TPSI using each letter only once in each word ?

(A) One (B) Two
(C) Three (D) Four

What should come next in the following letter series ?
bacbacdbacdebacdefbacd

(A) ¢ B) d

(C) e (D) f

How many numbers less than 10,000 are there, which are divisible by
21, 35 and 63 7

(A) 32 (B) 34

(€) 30 (D) 31

10,0004 ~{lariy (vitril) wal kel izl & & Fwedl 21, 35 @4 63 d Fudy
oausy 53l sy ?

(A) 32 (B) 34

(C) 30 (D) 31

Applying for Seasonal Employment occurs when a person requests to be
considered for a job that is dependent on a particular season or time or year.
Which situation below is the best example of Applying for Seasonal
Employment ?

(A) The ski instructor at Top of the peak Ski School work from December
through March.

(B) Mohan prefers jobs that allow him to work outdoors.

(C) Rita works in a Beauty Parlour from 3-00 pm to 7-00 pm

(D) ‘Tasty’ ice cream shop stays open until 11.00 p.m. during the summer
month.

el Alss wAsum 2 % st s da A el ALl enva sl
dl Al Rl 58 sustd el Asd ael any ?

(A) uels Guz auaal el [@as was uadl 241 agani Qo] wal wdl
Alsd 52 B,

(B) lert »idl AAlsdl waie 53 8 Wl A saR Rad &
(C) 9o sydludmi oy 3-00 4l A% 7-00 e yHl siq 53 9.

(D) 22l sududlusdl gt Gruouel HlE-uslui »A 11.00 wow yHll vedl 2
6.
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24

Find the statement that must be true according to the given information
Vivek has a paper route. Each morning, he delivers 37 newspapers to
customers in his neighborhood. It takes Vivek 50 minutes to deliver all the
papers. If Vivek is sick or has other plans, his friend Ajav who lives on the
same street, will sometimes deliver the papers for him.

(A) Tt is dark outside when Vivek begins his deliveries

(B) Vivek and Ajay live in the same neighborhood.

(C) It takes Ajay more than 50 minutes to deliver the papers
(D) Ajay would like to have his own paper route.

AdeAl el w2 we B s,

[@Ads 3R oMl Alvar 2 Ay 58 svel wd wu B A A wdani sa
37 wvends] [Adm 52 B, W g e dd 50 Bz adl 8. il B

e s dlA wial o oz did cud dell Bt wer % Rasd adiy w6

e vt adl weeudld Rdwe 52 8.

(A) w2 [Ads »ueu [Adw 53 6 AUl ser g ¢y 6.

(B) [Ads i wiwy sidl Aops—~izpsnl 24 o,

(C) wwurl »vouzd [Rd sl 50 BiResl amd amy a6t o,
(D) el wioonz [Adwt w2 ddaid suadl 2dl usle 24l 29 @

The population of a state increased from 100 million to 169 million in two
decades. What is the average increase in population per decade ?

(A) 20 % (B) 345%

(C) 69 % (D) 30%

ws uwell 9l o eusel 100 Fellusell adld 169 Bidlyn af. e easpii
dxdl amu-l w3 R bewl !

(A) 20 % (B) 345 %

(C) 69 % (D) 30 %

The mean weight of 150 students in a class is 60 kg. The mean weight of
boys is 70 kg and that of girls is 55 kg, what is the number of boys in the
class ?

(A) 50 (B) 60
©) 75 (D) 100

wls ol 150 Rl wRus 9wt 60 Rela &, wisusld 23un a-
70 Balast 8 2 slsdaild a3 az 55 Bala 8. 20 4ol wlsusidl
dwy s2dl?

(A) 50 (B) 60

©) 75 (D) 100
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25 A sum of Rs. 24000 is borrowed for l-zlyf:m at the rate of interest 10% per
annum compound semi-annually What is the compound interest (x) ?
{A) x < Rs. 3000 (B) Rs 3000 < x < Rs. 4000
, (C) Rs. 4000 < x < Rs. 5000 (D) x> Rs 5000
| w2 19 e Aeddl srau dzel als 10% -4 sl 2y anall dawd
' A 3. 24000 da ad W2 G dami »ud dl d2d sl 2% (x) wsaald

gy ?
{A) x < 3i. 3000 (B) 3L 3000 < x < 3. 4000
(C) 3L, 4000 < x < 3L. 5000 (D) x > 3. 5000 ;

26 A person borrowed Rs. 7500 at 16% compound interest. How much does he
have to pay at the end of 2 years to clear the loan ?

(A) Rs. 9900 (B) Rs 10092

(C) Rs 11000 (D) Rs. 11052

ws aulm 16% -1 asmls el 31 7500 G 4 &, oL L »id d Zedl
2 Y ol Al sad my 7

(A) 3L 9900 (B) 3L 10092

(C) 3. 11000 (D) 3L 11052

27 By giving 25% discount a trader earns 25 % profit. If he sells the item at
10% discount, what is his profit ?

(A) 10 % (B) 40 %

(C) 45% (D) 50 %

25% AR AL s B A 25% sl el wa @ 9 4wl v g
10% andz wd 43 dl ad Fedl =sl iy ?

(A) 10 % (B) 40 %

(C) 45% (D) 50 %

28 The marked price of a machine is Rs. 18000. By selling it at a discount of

! 20 %, the loss is 4%. What is the cost price of the machine ?
- {A) Rs. 10000 (B) Rs. 12000

(C) Rs. 14000 (D) Rs. 15000

wls el daum (Bya 3. 18000 . d- 20% -0 andzedl 42 »ud dl
4% <l “iz sud 0, v Hallddl wsdz Bhd badl e ?

(A) 3L 10000 (B) 3t 12000
(C) 3L 14000 (D) 3. 15000

CSSC-GS-11-PKEL-2016_C] 1 [ Contd...
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30

31

32

A boy walks from his house to school at 1.5 km/h and arrives 12 min late.
The next day he walks at 4 km/h and reaches the school 15 min earlier What
is the distance from his house to school ?

{A) 2 km (B) 25 km

{C) 3 km (D} None of the above

s s uleiri w3l sasu ge Boall oAl ssd welld sl 12 MRz Wl
ul 69, oflon [Bad a4 olsd sast 4 Ball, 240 wdl summl 15 Bz adal
ueld &, i slsudl 43w won 93l viaz ked ® ?

(A) 2 [Eal. (B) 250zl

(C) 3 [l (D) Gudlsd 48l sleust ]

A father and his son start a point A with speeds of 12 km/h and 18 km/h
respectively and reach another point B. If his son start 60 min after his father
at A and reaches B, 60 min before his father, what is the distance between
Aand B?

(A) 90 km (B) 72 km

(C) 36 km (D) None of these

wls [l »id del yat Uiz A ol 2480 12 Bl il 18 Bl Al e
el gz By ueld 8. o ddl o A ol 60 Bz sue wadd s dl
2 B Wldve U dt [l s3di 60 Mz udal udd &, A wA B uldwz a2
524 widz & ?

(A) 90 [5all. B) 72 .

(Cy 36 [zl (D)  »uxidl 218 -l

A person can do a job as fast as his two sons working together. If one son
does the job in 6 days and the other in 12 days, how many days does it take
the father to do the job ?

(A) 9 days (B) 6 days

(C) 4 days (D) 3 days

s Al dldiAl o yail e el s 53 A=l At med s 54 w6,
ool s ws olsd o Ranul aiA ofls eoisd 12 Raxdi 2 dl 4 s s
W2 [ dea Rawl s ?

(A) 9 [Ban (B) 6 [Ban

(C) 4 [Rau (D) 3 [an

If 18 men earn Rs.1440 in 5 days, how many men can earn Rs. 1920 in
8 days?

(A) 10 (B 12

(C) 15 (D) 18

w18 Wwerdl S [Rauui 3t 1440 sdl &y ol »us [Baami 3. 1920 s
Hie seel el sl 7

(A) 10 (B) 12

(©) 15 (D) 18
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Direction : Read the following paragraph and answer the question No. 33 to 35.
HUAL @ Al aavds aild wa suis 334 3540 oralst Bl

Since there is inclination towards commerce & Management studies, we are
ignoring  Social Sciences, literature & subjects of humanities. Such attitude is
harmful to the future development of cultural & intellectual life in g society.
Secondly it is a matter of regret that the student who have less brilliance &
capacity generally do not like to persue postgraduate or Ph.D. courses.

We can discern sulk attitude at the school level also. Many students in the
Higher Secondary Schools opt for science stream to join Medical & technical
courses even though they do not have aptitude nor they have intellectual capacity.
When they fail to secure admission to the medical or technical courses, they
realize their mistake but by that time it is quite late,

Dr Yogendra Singh notes the undesirable impact on our culture caused by
Market-centric economy, “When the market forces have become stronger, it has
impacted not our economic life but it has changed our perception of our culture
& knowledge We are persuing physical & financial gains. We want to be educated
only to seek employment. Consequently, the number students in the courses of
humanities, social sciences & natural sciences is on declines”

wisd SMA vl Aaleall wewA wE aud pma s 59l suud
Heulss [, ke 2 wndly Rl udl Glan Aot ol »uq aas wel
dizglas s silfasda sl waf w2 qnu-sas . o0F suuel we s s
wilst & 5 % [Qelloldl sl 2l duBRAL vl B dud vidqeias b dlszhe
(ot dL ) seumssin oad e o).

BUNEL UL sl W wud qds A adlsl dlul. GAads walls wusiui
aetl [l Reu-aweu s o el qodl ARse o s Rada seamsin
uda qadl w5 o & s s W2 A dl A 3B B b A dl el olllas aval
TR daild A5 3 AFHEudel uda qadl ol dud daedll md e @
ust o uqd ug Wi ud wy ey . :

LWl ng i sizel 2uvel desf un Wil ulign wena i3 4
B WL a3 susdl 4uE uaeid ol B Al A sius sinzed % 4l sl syl
St 3 AR WAl U Az 5, e e elifis e Ausdla aied
Uise usal sl

UMl §5et Arwoud Aaal w2 o ol s, WBeel aeuls R, Higlis
(sl 24 suntdly stozsiini Raellidl i qedl ny o,

33 According to author, which among the following is chiefly responsible for
the harm done to humanities subjects.
(A) Parents and teachers
(B) Education policy of the government
(C) Market centered economy
(D) Students who opt science stream.

Quisel ud e, sl Bl adla qsue w0, A3 44 Ae wpw A4
wAUMELD & 7

(A) el w4 [Bad

(B) uasz-l [Bam Al

(C) ona-call »iedda

(D) Rauruare Az Reaeil -
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34 Which of the following statements is not true ?

{A)
(B)

(C)

(D)

Market forces are conducive to improve the quality of higher education.
Market forces influence our culture & value system

Market forces are not only limited to economy in terms of its overall
impact.

[mpact of market forces is not always positive,

Al Al 2 B ay aefl ?

(A) o3 uledi-u siv8l Galigad geadl yaRUH Atsd 1s B,

(B) otz ulzsnl 2ausll dasfa w4 yeill wad sz 2 8,

(€)

o3 URANIAL Woua M s susidl Yl wuife el

(D) ez uReal-l wtus Guz uedl 2@l i wsimors el didl

35  Which of the following statements is true ?

(A)

(B)

(©)

(D)

Students are persuing education only to get jobs.

Subject of Natural sciences, social sciences & humanities are not
necessary for progress.

Education Institutes such as schools & colleges guide the students
correctly.

Students are wise in selecting subjects at the school,

il [Aadlaiell 24 Eus wyg o 7

(A)
(B)

(C)
(D)

euellol Mt dooudl dmaal sewe 52 .

uglas Rate, 2ouls e vl wdly Rudledl soaasy Rsy wd
w3 -l

wa-side Fdl dalis wuril Radlsid wy wsled sul o,

Mzuellol sivusiini % EAwdl wie 53 6 dui savoel] wicll £ &,

CS5C-GS-I1-PKL-2016_C| 14 [ Contd...



Direction : Read the following paragraph and answer the question No. 36 to 38.
YA 1 AR wavis aiRlld s sis 3640 38+ areust andl,

Ancient Egyptian used to make a sheet kind of thing from papurus tree but
it was not exactly like the paper you are using taday. The Greak counter-part of
papyrus was the parachanment or the dried & scrapped skin of animals like calf
& goat, etc.

It is said the name parachament originated from the name pergamon, which
was the biggest centre of Parachament production, The Indian Counterpart of the
Papyrus was the bark of Bhojpatra tree (Betula utilis) which is also known as
Bhujpatra.

With the deveopment of paper, writing became one of the most important
activity. For the first time humans were able to document what was essentially a
verbal history. The ancient greeks specially the spartans (Citizens of city State of
Sparta) were farmous for their writing skills beside their skills on martial arts. In
earlier days people used to write on scrolls but later on scrolls were cut down in
small rectangular pieces and stiched together. This were the first books and you
know the word book originates from Greek word Biblion meaning book. In its
earlier days, the act of writing was very tedious and because of that books were
very few in numbers.

Wl Bz ($0na) i dlal wnllaqt qaoddl s 34l aag oL el
W 4 wud wu% andal gl ddl saa 4 edl, wllaa qa-l sl % yuly edl
4 MRAE2 AR b osd]l a4l ws s asdal wesinl Gualo adl edl, Sidl
WAL B 2w astd Nl el oow wd sadd 8. Aausil’
A wRAt-e Guetd Aldl oE b o,

urlat qael cuadla waly ol 9 ed (Azan 3adln) A oy -l
Ysl vl sud 6.

sl ailt e Aviesel sls v erall ugl ol A8, % s B SR
sl d M v werl W2 tidy 243l wAdar] as oy,

w5 sl v s34 el wda sl 20dq dlsl dndll anus alm
Guald dui slaey W2 ug anelldl adl

UG dlsl Aol UB R Al sal, Wi HIRMIE L e vz derailza 254t
50 d Adl ddi edl, B Yacsll W8 SR el d) onedL sl b o5 (Yaris)
st dlls ‘ollodlulA’ woemidl o=l B, wouG dvirsid vol saiunes . d=l 5128
Yarsidl Ava qallRa edl.
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In the above paragraphs the author states the following facts -

(A) Bhojpatra in India was no substitute for papyrus tree in Egypt.

(B) The life style of Sparta people was Bohemian.

(C) The documentation of history became possible on account of invention
of paper.

(D) Parachament was widely used in India.

Budsd gsusidl dus suund A soordl wflsdl oeud ©

(A) cuzmi oo 3 SBra-i unll qa-l [Rsey A el

(B) 2wzl «lsl 2quidl wad wadl edl.

(C) sl alld-l 5128 SR sedideoseel asy o0 od.

(D) wari-edl Gualal euRddi Mlaiwd wedl el

Which of the following statement is not correct ?

(A) Papurus tree of Egypt was used for writing.

(B) The word ‘book’ is derived from a Greek work ‘Biblion’.
(C) Spartan people were good at fighting as well as writing,
(D) The art of writing in ancient time was easy & enjoyable.
Ald-i [l s [ wd o ?

(A) OFnani wdlz qa-l Gualal dviel w2 adl wdl.

(B) “o5" ust dls euri-u olelldlaia s uzell Gadl suda &,
(C) 2wl dlsl 4o s dxw dwrsami udls el

(D) 3wl Al dwiesun H3 v sudsads wdl.

Which is the correct statement out of the following ?

(A) The article made by Egyptians from Papurus tree was exactly like the
paper we use.

(B) The art of writing was useless for the people.

(C) Earlier what was written on the scrolls was cut into rectangular pieces
& bound as a book.

(D) 1t is not possible to write on the dried pieces of animal skin.

Al sy A wy & ?

(A) SBnd-u elsl uollan gastisll % aid srtlddl odl d wu%-L s %l
el

(B) e W2 avdidl sl 518 Gualal A wdl,

(C) »1uG dion ug MR dvilg ed dril doala 2sasl 59 dA sidlAd yads
Sl .

(D) Asdel A4 2580 Ur amg a4l
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Direction : Read the following paragraph and answer the question No. 39 to 41.
YUl ¢ AL stavig aiafld wsl suis 394 41 waiet vl

Almost all the religions in the world have somehow marginalised women
and pushed them down as inferior to men. They converted women into commodity
or a thing that can be owned by men. Devotion to the husband and caring for the
family became a religion for women. Religions did not acknowledge woman as an
individual and hence the society also did not accept her individuality.

From the beginning to the end, a woman shoulders heavy responsibility to
perpetuates the human race. She remains overburdened. She carries a child in her
womb for 9 months, suffers labour pains and raises the children but the child is
not known by mother’s name. The child is known by Father’s name Rarely a
woman would have opposed such thing

In what way, a woman is inferior to a man ? Her body ties her down in
various ways. Menstruation, conceiving a baby, labour pain of a delivery, caring
for the children, Menopause _.... She implants her parental home to a totally new
surroundings. A woman who goes through such physical and mental turmoil, how
could anyone call a weaker sex? Have you ever thought of a world without woman
? Yet why should you kill her before the birth ? Whichever Religion or sect
ignores the dignity of women, such religion or sect should be boycotted by women.
This is my firm belief

AL g o wfEda ads A4 Ads A4 S eifusi wiaad @A gl
Gl -t e, sl Ay 3 daqui Juiala sal whl vyl @A Dy aud),
A et o #lledl wf wud g aedl, wilEl Sl s alF 4k e sl ¥ 4d,
WREd w0 s Al % sl adlus

@il wumsen Yl e e o vadl wlosu daeda wdad madl amad
v we Pded 2 8. 13 4R daed Tend andl, syl da dedl, ounsd Gdadl,
deazll ettt A3 sums Adl siovud, w0 Al R s o oy 6. eusdl ¥ =8 W
. WA @Ay sl ad.

#l oyl 590 A4 Glaxdl 6 7 Wl B WA bekadl A4 il B 7 wieal, anfuim,
el dla, sundes, kgL ss 92 sl ded A adiazeed $94) yolla Aua. s oy
wdRs = wAls Foad wddl =l 4 gy dl g wd A sen s 6 7 v dai udai
%t il el ? ¥ el b odnay wlld waas @ -l sleln alee sed Asa Ag
d gauel Wi 5.

39  Which of the following statement is true ?

(A) All religions have great regard for women.

(B) Women have always enjoyed respect in the society.

(C) Religions and sects have done injustice to women.

(D) Ordinarily, the name of mother is attached to chid’s name,

Gudsr vt wud Dduidl 2 Rud wa & 7

(A) #ll@l udl eks o yousua safal 8.

(B) #lwild wwuwl sweue o w6,

(C) aul wi dinedisl llwid sy sul &,

(D) Acietl=l U i e Ad ddld - oAsani »ud 8.
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What was the mental state of the author while he/she was writing the
passage ?

(A) surprised

(B) afraid

(C) sympathetic

(D) ironic

ol anll Bl el A, d and Aeis@Brsedl wRBR g edl ?
(A) »lsd Wiy

(B) oue{la

(C) «dde-icdns

(D) saiaysl

In this passage, what is the main suggestion(s) of the author ?
(A) Child's name should include both mother and fathers' name.
(B) Woman shouldn't blindly accept the religion of her parents of husband.

(C) Government should strictly enforce laws related to crime against
women.

(D) All of above.

L §HUML Auisll UMW Yona/yndl 5 B ?

(A)  SUNSIAL AHAL el Hiel-Tcl SGeL Al Gedw adl R,

(B) el didi-it ael & ulten wiedl wiuell A3 alsz 4 s2dl AdL,

(C) a3 HRBaril W2 adl iR AL sueell auaddl wsy sal
oAl 53,

(D) Gusd U4 aqm
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42  Raman starts from point P and walks towards South and stops at point Q.

He now takes a right turn followed by a left turn and stops at point R. He
finally takes a left turn and stops at point S. If he walks 5 km before taking
each turn, towards which direction will Raman have to walk from point §
to reach point Q ?

(A) North (B) South

(C) West (D) East

Vi P ulgezedl adld el dzs wud Q ulgez uz Asm 8. ed d well euy
Sl 2o e sl sy 58 vl R ulgee wal Asil B, vid A sl suy
S0 uA W2 § W Asiu D oA W es amis dl udal 5 Ab{ wadl
eld dl el uigez S ol g Q Wl waal w2 s Raumi amg uge ?
(A) Gna (B) elo

(©) Ml @) ud

In a class there are 32 boys and 28 girls. The average age of the boys in the
class is 14 years and the average age of the girls in the class is 13 years.
What is the average age of the whole class ? (Rounded off to two digits after
decimal)

(A) 13.50 B) 1353

(©) 1251 (D) 1342

wls Al 32 wlsusil =i 28 wisdail 6. adf- el w3us 6wz 14 -l
9 ol solsdalldl waa Guz 13 -l B, wxa aol s wisdai-d 2
G dedl wdl ? (saist Ms Wil 2 »is yddi Gra wels swudl ©)

(A) 13.50 (B) 1353

(C) 1251 (D) 13.42

Manisha invests an amount of Rs. 39,300/~ for 4 years at the rate of 4 pcpa.
What amount of approximate compound interest will she obtain at the end
of 4 years ?

(A) Rs. 6,675 (B) Rs. 6,650
(C) Rs. 6,288 (D) Rs 6,356

WAdL 4 w2 by 4 25 ou% 3L 39,300/~ o Az s B, 4 ad sus
A vied asgle enwdl dadl ww wad ?

(A) 3L 6,675 (B) 3L. 6,650
(C) 3L 6,288 (D) 3. 6356
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Three of the following four are alike in a certain way and so form a group.
Which is the one that does not belong to that group ?

(A) Nephew (B) Cousin

(C) Mother (D) Brother

A sufda wz doltiui sl wldl deld B 5 % vy deldl- gEMl vl 8.
(A) ol (B) il

(C) ™l (D) ous

Directions : (In each of) A question below is given four statements followed
by four conclusions numbered 1, 11, 111 and IV. You have to take the given
statements to be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding
commonly known facts.
Statements : 1 Some doctors are lawyers.

2. All teachers are lawyers.

3 Some engineers are lawyers.

4. All engineers are businessmen
Conclusions : T Some teachers are doctors.

II. Some businessmen are lawyers

M. Some businessmen are teachers

IV. Some lawyers are teachers.
(A) None follows (B) Only Il follows
(C) Only I follows (D) Only II and IV follow
Yl ¢ Al usui R @Al sudan 8 v Wz cesl 1O T = IV sz
Wl wulel &, AUt eflsd 53l wiad dly dl wel sl sutan Rudl wal
B du Mirdd B, 4 UM el usl qigl wid wll 88 s B Guals
Rl % dizel w0 8 d afusdd 4d gad & 5 .
Rwl - sedls dlsedl adldl ©.
el [asl afldl 6.
bedls wlrafudl afldl ®.
ol Bi=aplAud eywd o,
Leals [Masl dsedl ©,
Feals auydul addl 8.
teas ouudlal [Masl B,
bears adldl [asl .
(A) ¥ -l (B) &%t 11 yaad ©.
(C) &&=t 111 yHad 9. (D) &t 11 =i IV Yaiod .

rtli'il] -

S HEB NS R
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The shadow of a tower is 15 meter when the sun's elevation is 30°. What
is the length of the shadow when the sun's elevation 'is 60° 7

(A) 3m (B) 4m
(C) 5m (D) None of above

13 Y44 300 dall Uz dly el 21aaeil wesiEdl 15 Wz aiol WY 8, iyl 600
d3ll 4z @i, cud i aiqael wssiasdl dous kedl ed ?

(A) 3 slex (B) 4 21

(C) 5 dlea (D) @it W4l sy w4l

Pointing to a woman, Nirmal said, “She is the daughter of my wife’s
grandfather’s only child™ How is the woman related to Nirmal ?

(A) Wife (B) Sister-in-law
(C) Sister (D) Data inadequate

(ol »is wfdan A s &, “wll uell aadl sisua ddi--l 2w £l
8.7 wi qRa B wd g woe 8 ?

(A) uedl (B) il

(C) “idn (D) »iusind suledl &,

Among B, F, J, K and W, each having a different weight. F is heavier than
only J. B is heavier than F and W but not heavier than K. Who among them
is the third heaviest?

(A) B (B) F
€) K (D) W

B, F, J, K and W Hitll s a%-t »iadl sad &, 5 J 52l F «| 4% qauid
9. F 241 W 52l B + a9t aui2 . uig B « a4 K ¢l awd . »u
siiel] amiy ag--l gfewl Sl s el suad ?

(A) B B) F
(C) K : (D) W
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50 Directions : In each gugstion below are four statements followed by four
conclusions numbered I, I, TIT and IV. You have to take the four given
statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follows
from the four gives statements disregarding commonly known facts. Then
decide which of the answers is correct and indicate it on the answer sheet.

s

Statements : Some tyres are rains.

2. Some rains are flowers.

3 All flowers are jungles.

4. All jungles are tubes.
Conclusions : | Some jungles are tyres.

Il. Some tubes are rans.

Ill. Some jungles are rains.

IV Some tubes are flowers.
(A) Only L, II and 111 follow (B) Only 11, I and IV follow
(C) Only I, III and IV follow (D) All follow

Ytz A3 wsni w2 el sl 8 e AR arel 1L 1 e 1V e
il sulel B, At shlsd sl RAweud a8 dar R ou oA
et vl D3 ealdan drsiid afusdl 4d 54 Rean 2oy 8 d 58 534
al wae wwis 59 Guzadai weu Radl sdl e,

Rarl : 10 dis 243 qwud @,
2. dla awudl gl 8.
3. s el wadl ©.
4. o %l el 8,
aell : [ ula wedl aud 8,
I aldl zuel aweud 8.
ML wisl %oel e o,
V. 4fl zweil gl 8.
(A) &t I, 11 2 TIT gaod 6. (B) &ut IL TIT 24t IV yaioid .

(C) &5t L I 2 IV 2o 6. (D) aL % o 8,
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SPACE FOR ROUGH WORK
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